C:# Reading a Scale Name:

Use the scaleto answer each question. Answers
1) e 2) ——————— 3)
1.
2.
3.
4,
If you have 6 blocks that If the block shown were 9 If the block shown were 2
are the same weight, how ounces heavier, how much pounds lighter, how much
many pounds total do the would it weigh? would it weigh? >
blocks weigh?
6.
2) 7.
8.
9.
If the block shown were 9 What isthe weight (in What isthe weight (in
ounces heavier, how much pounds) of the block? ounces) of the block?

would it weigh?

7) 8) 9)
)
0
8 \ 2

Lb
If you have 7 blocks that If the block shown were 3 If you have 5 blocks that
are the same weight, how ounces lighter, how much are the same weight, how
many pounds total do the would it weigh? many pounds total do the
blocks weigh? blocks weigh?
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':h Reading a Scale Name: Answer Key

Use the scaleto answer each question. Answers
1) e 2) ——————— 3)
1 42
2 22
3 3
4, 22
If you have 6 blocks that If the block shown were 9 If the block shown were 2
are the same weight, how ounces heavier, how much pounds lighter, how much 3
many pounds total do the would it weigh? would it weigh? >
blocks weigh?
6. 12
4) 7. 63
8. S
9 40
If the block shown were 9 What isthe weight (in What isthe weight (in
ounces heavier, how much pounds) of the block? ounces) of the block?

would it weigh?

7) 8) 9)
)
0
8 \ 2

Lb
If you have 7 blocks that If the block shown were 3 If you have 5 blocks that
are the same weight, how ounces lighter, how much are the same weight, how
many pounds total do the would it weigh? many pounds total do the
blocks weigh? blocks weigh?
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